odd ) (cm)

= =

S S
N
]

[

Ratio

0.

0.

o(d o) (rad)

1073 SO :

3
T

...................

w

0_4__5 __________ o i

....................

..................................................

o(d dz) (cm)

¢
¢
N

[
<

.......................................

..'T

85

3 S T S——— —

6OI$L_! L1 1 11 | + 11 1 + 11 1 + 11 1 1 11 1
‘= [: - 5 B

© F : : 5
B IR N R N S A R A I R [ ) O N O N B O
Qr1.05F -t o4 el el o
........................ : ] 1 |

é: -

-3 —'2 51 6 12 3 09 3= 0 1 2 3

—=— DQM_CKF_QCDHighPt_base mline)

—*— DQM_CKF_QCDHighPt_retrainOldFiles125 v2_prelimWPM_epochl

......................

RISTADR X it o e
SR ST N

.........

~107?

-

odp_/p

- 111 1
L. VO[T

3 2 -1 0 1 2 3 08551 0 1 2 3

TP @ (PCA to beamline) TP @ (PCA to beamline)



	Contents
	Page 1


